

A Service of

ZBW

Leibniz-Informationszentrum Wirtschaft Leibniz Information Centre for Economics

Kemfert, Claudia; Kremers, Hans

Working Paper The cost of climate change to the German fruit vegetation sector

DIW Discussion Papers, No. 857

Provided in Cooperation with: German Institute for Economic Research (DIW Berlin)

Suggested Citation: Kemfert, Claudia; Kremers, Hans (2009) : The cost of climate change to the German fruit vegetation sector, DIW Discussion Papers, No. 857, Deutsches Institut für Wirtschaftsforschung (DIW), Berlin

This Version is available at: https://hdl.handle.net/10419/27379

Standard-Nutzungsbedingungen:

Die Dokumente auf EconStor dürfen zu eigenen wissenschaftlichen Zwecken und zum Privatgebrauch gespeichert und kopiert werden.

Sie dürfen die Dokumente nicht für öffentliche oder kommerzielle Zwecke vervielfältigen, öffentlich ausstellen, öffentlich zugänglich machen, vertreiben oder anderweitig nutzen.

Sofern die Verfasser die Dokumente unter Open-Content-Lizenzen (insbesondere CC-Lizenzen) zur Verfügung gestellt haben sollten, gelten abweichend von diesen Nutzungsbedingungen die in der dort genannten Lizenz gewährten Nutzungsrechte.

Terms of use:

Documents in EconStor may be saved and copied for your personal and scholarly purposes.

You are not to copy documents for public or commercial purposes, to exhibit the documents publicly, to make them publicly available on the internet, or to distribute or otherwise use the documents in public.

If the documents have been made available under an Open Content Licence (especially Creative Commons Licences), you may exercise further usage rights as specified in the indicated licence.



WWW.ECONSTOR.EU

Deutsches Institut für Wirtschaftsforschung



Discussion Papers



Claudia Kemfert • Hans Kremers

The Cost of Climate Change to the German Fruit Vegetation Sector

Berlin, February 2009

Opinions expressed in this paper are those of the author and do not necessarily reflect views of the institute.

IMPRESSUM

© DIW Berlin, 2009

DIW Berlin German Institute for Economic Research Mohrenstr. 58 10117 Berlin Tel. +49 (30) 897 89-0 Fax +49 (30) 897 89-200 http://www.diw.de

ISSN print edition 1433-0210 ISSN electronic edition 1619-4535

Available for free downloading from the DIW Berlin website.

Discussion Papers of DIW Berlin are indexed in RePEc and SSRN. Papers can be downloaded free of charge from the following websites:

http://www.diw.de/english/products/publications/discussion_papers/27539.html http://ideas.repec.org/s/diw/diwwpp.html http://papers.ssrn.com/sol3/JELJOUR_Results.cfm?form_name=journalbrowse&journal_id=1079991

The Cost of Climate Change to the German Fruit Vegetation Sector¹.

Claudia Kemfert^{2,3} and Hans Kremers²

This version: Wednesday, 4 February 2009

Abstract:

This paper applies the concept of damage coefficients introduced in Houba and Kremers (2008) to provide an estimate of the cost of climate change - in particular the cost of changes in mean regional temperature and precipitation - to the fruit vegetation sector. We concentrate on the production of apples in the German 'Alte Land' region. The estimated cost of climate change on apple-growing in the 'Alte Land' is dependent on the assumptions regarding developments in the rentability of land not related to climate change in the fruit sector.

JEL Classification: D01, D21, D24, D61, D62, Q12, Q24, Q51, Q54, R32

Keywords: fruit vegetation, Alte Land, climate change, land productivity, land rentability, cost of climate change

¹ This research is part of the project "Climate Change and Fruit Growing in Germany" (KliO), financed by the German Federal Ministry for Education and Research (BMBF) in their 'klimazwei' program.

² DIW Berlin, Department of Energy, Transportation, Environment (EVU), Mohrenstrasse 58, D-10117 Berlin, Germany.

³ Humboldt-Universität zu Berlin, Wirtschaftswissenschaftliche Fakultät, Spandauer Straße 1, D-10099 Berlin, Germany.

1. Introduction.

There are four main areas in Germany where the climatic conditions are favorable for growing fruit: 'Das Alte Land' under Hamburg in Lower Saxony, and regions in Saxony, Rheinland-Pfalz, and Baden-Württemberg. These favorable conditions are mainly based on the climatic conditions, i.e. on the temperature, and precipitation in these areas which lead to a favorable productivity of the soil in the orchards. Recent developments in the regional climate threaten to bring significant changes to these areas. On the one hand, the increase in temperature observed during the last decades results in more beneficial conditions for the production of fruit, in particular apples. On the other hand, higher temperatures also attract parasites such as the apple coiler that cause a significant decrease in apple-growing.

We assume that land is used most profitably in the orchard sector where it is being used as a production factor. This might change due to climate change influences, which will have its influence on this profitability and hence on the rentability. The latter may cause farmers in the 'Alte Land' area to sell off their land for alternative purposes, or choose to grow apple species that are more resistant to the new climatic conditions, as this might prove more profitable.

This paper tries to estimate the cost of climate change on apple-growing in the 'Alte Land' region in Germany. To this end, we apply the concept of damage coefficients introduced in Houba and Kremers (2008) to model the possible beneficial consequences of climate change - as foregone damages - into computable general equilibrium models. This approach allows us to distinguish between economic developments and the explicit consequences of climate change in the production sector. It is the difference between the two associated scenarios that provides an estimate for the cost of climate change in the German orchard sector. It may be obvious that this cost estimate depends to a large extent on the assumptions underlying the economic developments in the orchard sector and on the specification of the damage function.

Section 2 of this paper describes the production in the orchard sector using a simple microeconomic formulation as a production function and it includes the damage coefficients from Houba and Kremers (2008). Section 3 estimates a possible scenario of land productivity over time which is assumed to represent the economic development in fruit production. Dependent on the assumptions underlying the economic development, we determine the influence of climate change variables, such as the regional minimal temperature during the blossoming period in spring and regional mean precipitation levels, on land productivity from the difference between the actual productivity levels and the economic productivity levels. Section 4 determines an estimate for the cost of climate change and its relation to developments in the rentability of land in the German orchard sector. Section 5 concludes.

2. Production in the orchard sector and climate damage.

Economics determines how to allocate scarce resources among a set of alternatives. Scarcity implies an insufficient availability of resources to cover all. The choice for one alternative means that one foregoes any of the other alternatives, i.e. one foregoes the net cost associated with these alternatives. The (net) costs associated with the next best alternatives are referred to as the *opportunity costs* of the chosen alternative. When we talk of the 'costs of climate change' we refer to its opportunity costs for the economy.

To be able to compute the costs of climate change, we should state an alternative to a scenario on the development of productivity of land that includes the environmental damages related to the climate. Such an alternative scenario only consists of the economic developments, if no climate change takes place. Hence, we have to define an economy-only scenario for the German fruit vegetation sector. The economy consists of a simple model of the German fruit production activity, being a simple production function.

Standard microeconomic theory models any production activity in the economy using a production household. Such a production household is characterized by its production function that refers to its technology and its behavior which is described by profit maximization. We refer to Varian (1992) as the standard reference on microeconomic theory and to Kemfert (1998) who estimates the substitution elasticities of production functions in Germany. A production function describes the household's production technology. It transforms units of each combination of possible input goods into an amount of the output good. Let us assume that y units of a certain output good can be produced from x_i units of each input good i = 1, ..., n. A production technology can then be written as $y = f(x_1, ..., x_n)$ x_n), where f is a continuous function, referred to as the production function. We assume that f exhibits so-called constant returns to scale. Under this assumption, take any factor t > 0. Then, $f(tx_1, ..., tx_n) = t f(x_1, ..., x_n)$, hence, multiplying all input amounts with the same factor t increases the sector's output with the same factor. Compare this with a production technology that exhibits increasing returns to scale (>) or decreasing returns to scale (<).

The combination of input and output amounts into a vector is often referred to as an input-output vector or a production vector. The producer determines the production vector as the vector that maximizes his profits. Let p_1, \ldots, p_n be the prices of all inputs and let p_0 define the output price, assuming good 0 is the output good. Let p denote the price vector and p_{-0} denote the input price vector. Then, profit maximization comes down to determining output levels y and input levels x_1, \ldots, x_n on the production function f such that profits $p_0y - (p_1x_1 + \ldots + p_nx_n)$ are maximized. Notice that, under the assumption of constant returns to scale, it is not straightforward to solve this optimization problem. But, we could redefine the amount x_i of input good i as the amount of input good i per unit of output good. Total demand of input good i can then be written as x_iy . Profit maximization is then equivalent to determining the amounts x_i of each input good i that minimize the costs $c(p_{-0}) = p_1x_1 + \ldots + p_nx_n$ per unit of output, while taking prices p as given by the market.

Solving the cost minimization problem results into an input demand function $a_i(p)$ of input good *i* per unit of output. Profit can then be rewritten as $[p_0 - c(p_{-0})] y$, and it may be obvious that the profit maximization problem only has a solution for good prices *p* such that $p_0 \leq c(p_{-0})$. In case $p_0 < c(p_{-0})$, then profit maximization implies that the producer will cease production, hence y = 0 is optimal. In case $p_0 = c(p_{-0})$, then profit maximization implies that the producer will produce anything the market demands, hence any y > 0 is optimal. This condition is often referred to as the 'Non-positive profits condition', and we turn to this condition in Section 4 when we discuss the rentability of land in the fruit orchard sector.

In applications of microeconomic theory, such as computable general equilibrium models, often so-called Constant-Elasticity-of-Substitution functions are used to specify the production function f. Then, $f(x_1, ..., x_n) = [(a_1x_1)^{(1-\sigma)/\sigma} + ... + (a_nx_n)^{(1-\sigma)/\sigma}]^{\sigma/(1-\sigma)}$, which results into a per unit output cost function $c(p_{-0}) = [(p_1/a_1)^{1-\sigma} + ... + (p_n/a_n)^{1-\sigma})]^{1/(\sigma-1)}$. In these functional forms, the parameter a_i refers to the productivity of input good i in the production of the output good. A high value of this parameter implies that a unit of input good i is highly productive. The parameter σ denotes the elasticity of substitution between each pair of input goods. This substitution elasticity parameter is assumed to be constant. If there is one percent of input good i less available in the production of a unit of the output good, then the producer should include σ percent more of another input good j to keep the output level unchanged. This paper applies the special case of $\sigma = 0$, when the production function reduces to the Leontief specification $f(x_1, ..., x_n) =$ min $\{a_1x_1, \ldots, a_nx_n\}$ with appropriate unit cost function $c(p_{-0}) = (p_1/a_1) + \ldots + (p_n/a_n)$. This Leontief specification is the simplest specification available, leading to a linear cost function. It assumes no substitution possibilities between the input goods. The input goods are complementary, meaning that a unit of the output good can only be produced by a fixed proportion determined by the cost minimizing amounts of each input good.

Damages in production related to the climate have two sources, the production technology itself is affected (for example, crops and fruit trees are sensitive to temperature changes) or certain inputs are degraded by climate change (for example, precipitation requires more irrigation or less productivity of a single drop of water). We follow Houba and Kremers (2008) in modeling the consequences of climate change on the economic behavior of the producer through the introduction of damage coefficients $d_i > 0$ into the production function - hence $f(x_1, ..., x_n) = d_0$ $\min\{(d_1a_1)x_1, \ldots, (d_na_n)x_n\}$ and associated cost function $c(p_{-0}) = p_1/(a_1d_1) + \ldots + (a_na_n)x_n$ $p_n/(a_n d_n)$. The damages d_0, d_1, \ldots, d_n refer to climate related damages in the productivity of the technology - indexed with 0 - and of the input goods i in the production sector - indexed with *i*. With the introduction of these damage coefficients, we separate the economy related influences on productivity from the influences related to the climate. The former influences are then represented by changes in the productivity parameter a_i . A damage coefficient d_i can take a value in (0, 1] to represent a deteriorating effect or it can take a value $d_i \geq 1$ in case the effect is beneficial. In case $d_i \in (0, 1]$, it means that commodity is effectiveness decreases from x_i to $d_i x_i$, where $d_i = 1$ corresponds to no damage done on the effectiveness of good i in the production process. Otherwise, $d_i x_i$ can be seen as an increase in commodity i's effectiveness. Similarly, we also introduce $d_0 > 0$ to indicate the overall impact on the output good. All impact coefficients are treated as additional parameters in the producer's optimization programs that are, similar to prices, taken as given by the economic agent.

We refer to Kemfert (2007) and to Tol (2002a) or Tol (2002b) for the estimation of climate related damages. This paper assumes that $d_k = 1, k = 1, ..., n$, hence abstracting from possible climate influences on the input goods in the production function, and concentrate on the determination of d_0 .

3. The estimation of a cost function including climate damages.

The first column of Table 5 in Appendix A provides the annual production of apples in the Alte Land region from 1973 until 2007, which we obtained from Ellinger and Görgens (2007). Apples are only a part of the types of fruit produced in the 'Alte Land' region. Table 1 compares the production of apples in this region, refered to as 'Niederelbe' with the production of apples in the rest of Germany, as well as with the rest of the EU15 regions and the Non-Member states (NMS). We present an overview of the production of apples (in 1000 ton) in the 27 EU member states, EU-27, distinguished among the New Member States (NMS), the former 15 EU member states, EU-15, Germany, and the Niederelbe region. This table depicts the significance of Germany, and in particular the 'Alte Land' region as an important apple producer.

	1998	1999	2000	2001	2002	2003	2004	2005	2006	2007
Niederelbe	270	310	320	308	163	222	246	292	301	304
Rest of Germany	N.A.	N.A.	N.A.	614	600	596	699	733	647	648
Germany	977	1036	1131	922	763	818	945	1025	948	952
Rest of EU-15	6422	7360	7870	6592	6359	6096	5995	6147	5703	5850
EU-15	7669	8706	9001	7514	7122	6914	6940	7172	6651	6802
NMS	2627	2528	3225	3579	3150	3423	3546	3149	3177	1721
EU-27	10296	11234	12226	11093	10272	10337	10486	10321	9828	8523

Table 1: Production of apples (in 1000 ton) in EU-27 according to EU states and regions (see Ellinger and Görgens (2007)).

The second column of Table 5 in Appendix A provides a sequence of the acreage of land that is dedicated to apple orcharding in the 'Alte Land' from 1973 until 2007. Table 2 compares this acreage (in ha) dedicated to apples with that used for growing other types of fruit, taken from Görgens (2007). It shows that the vast majority of its land is dedicated to apples. We therefore concentrate our analysis on apple orcharding.

	1981	1987	1992	1997	2002	2007
Apples	9175	9092	8879	8811	7277	8363
Pears	698	532	438	298	268	319
Sweetcherries	682	552	522	501	437	538
Sourcherries	798	470	241	102	39	23
Plums	243	154	155	160	190	248
Total	11596	10800	10235	9872	8211	9491
	1001	1007	1000	1007	0000	2007
	1981	1987	1992	1997	2002	2007
Apples	79.10%	84.20%	86.80%	89.30%	88.60%	88.10%
Pears	6%	4.90%	4.30%	3%	3.30%	3.40%
Sweetcherries	5.90%	5.10%	5.10%	5.10%	5.30%	5.70%
Sourcherries	6.90%	4.40%	2.40%	1%	0.50%	0.20%
Plums	2.10%	1.40%	1.40%	1.60%	2.30%	2.60%
m , 1						

Table 2: Fruit growing acreage (in *ha*) specified according to type of fruit (see Görgens (2007)).

Let us assume that the production of apples can be described with a production function with only land ('L') priced at p_L (in \notin/ha) as its input good. Then, we find the following cost function from the previous section

$$d_{ heta}c(p_L)y=(a_L)^{ extsf{-1}}p_Ly,$$

in the case of a Leontief technology with a productivity parameter a_L (in ton per ha) for land. Using this linear production function associated with the cost function, $y = a_L x_L$, we can determine the value \hat{a}_L for a_L using the formula,

$$\hat{a}_L = y/x_L,$$

where x_L is the demand for land (in ha) in the production sector. The parameter a_L can hence be determined as the productivity of land in the apple production sector. In the third column of Table 5 in Appendix A, we have computed the results for \hat{a}_L by combining the data in the first and second column of this table. Notice that, on land use, we only have data for the time periods 1981, 1987, 1992, ..., 2007 available from Görgens (2007). The slanted numbers for in-between time pe-

riods were obtained under the assumption that land use adjusts linearly within these periods.

We estimate the development of the productivity of land in the 'Alte Land' region over time using the following regression equation,

$$\ln\left(\frac{a_{L,t}}{1-a_{L,t}}\right) = \ln b + f\ln(t-1972) + u_t,$$

where u_t denotes a normally distributed error term. Table 3 provides further results on the estimation.

	Estimate	St. Error	t-value	$\Pr(> t)$	
Constant	-4.39882	0.14107	-31.18300	< 2E-16***	
Time	0.25264	0.05099	4.95500	2.110E-05***	
Signif. codes:	0 '***' 0.001 '**' 0.	01 '*' 0.05 ' . ' (D.1''1		

Table 3: Estimation results for the dependence of land productivity on time, in the 'Alte Land' region: Estimation, Standard Error, t-value, and significance level. Further estimation results show a null deviance of 3.7899 on 34 degrees of freedom, a residual deviance of 2.1733 on 33 degrees of freedom, and the AIC equal to 8.0568. The number of Fisher Scoring iterations was 2.

This results into the following estimates b = 0.0123 and f = 0.2526. These estimation results turn the relation between land productivity and time into

$$\underline{a}_{L,t} = \frac{0.0123}{0.0123 + (t - 1972)^{-0.2526}}.$$

Figure 1 depicts the estimated relation between land productivity and time, while the fourth column of Table 5 provides the underlying estimated values. This relation between productivity and time models land productivity as an increasing process over time with decreasing gains over time. Notice that we may possibly improve upon the estimation results in Table 3 by choosing the base year, here 1972, in an optimal way.

Figure 1 also provides a comparison between the estimated productivity of land and the observed productivity of land in 1000 ton per *ha*. We assume that the estimated productivity of land develops according to economic influences, for example following improved techniques in apple orcharding over time. The latter estimated function hence provides what we assume to be the economic development for the 'Alte Land' region. The differences between the observed productivity of land and this estimated productivity in Figure 1, we assume to be the consequence of climate change impacts, in particular due to changes in regional minimum temperature over the blossoming season, and in mean percipitation levels.



Figure 1: The productivity of land in 1000 ton apples per ha in the 'Alte Land' region compared to the estimates.

The differences between estimated and observed productivity of land in Figure 1 leads us to define the damage coefficient $d_{0,t}$ as

$$d_{0,t} = a_{L,t} / \underline{a}_{L,t},$$

for each period t = 1973, ..., 2007. We depicted the values of $d_{0,t}$ in the fifth and last column of Table 5 in Appendix A. Average damage is 1.027 which indicates a productivity improvement of 2.7% over the period from 1973 until 2007. Damage variates between a minimum of 0.578 and a maximum of 1.462.

The climate damage coefficient d_{θ} is the consequence of the development in levels of certain climate related variables, W_j , j = 1, ..., m, such as for example regional temperature, precipitation, sun radiation, or sea-level rise. The relation between these climate variables and damage to the economy is given by a relationship h_j such that $d_{\theta} = h_j(W_1,...,W_m)$.

We regard minimum regional temperature during the blossoming season, W_{Temp} and annual average or mean precipitation W_{Prec} as climate variables. The blossoming season for apples mainly refers to spring time, which we take to be the months of March until June on the northern hemisphere. In Table 6 of Appendix B, we have obtained data on the regional minimum temperature during the blossoming season (second column) and precipitation (third column) over the period of 1973 to 2005. These data represent the regionalized data from the IPCC scenario A1B in combination with WETTREG. These climate data are combined with the calculated damages in Table 5 of Appendix A to obtain an estimation of a simple specification of the damage function h, which we assume to be linear in the regional minimum temperature W_{Temp} and mean percipitation W_{Prec} . Table 4 describes the extensive results of the estimation.

	Estimate	St. Error	t-value	$\Pr(> t)$	
Temperature	0.00976	0.03505	0.27800	0.7830	
Precipitation	0.01494	0.00103	-14.51900	2.250E-15***	
Signif. codes:	0 '***' 0.001 '**' 0.	01 '*' 0.05 ' . ' 0	0.1''1		

Table 4: Estimation results for the damage function h on regional minimum temperature during the blossoming period and on precipitation, in the 'Alte Land' region: Estimation, Standard Error, t-value, and significance level. Further estimation results show a null deviance of 35.6985 on 33 degrees of freedom, a residual deviance of 2.8299 on 31 degrees of freedom, and the AIC equal to 18.5936. The number of Fisher Scoring iterations was 2.

This estimation results in the following damage function:

 $d_{0,t} = 0.0098 W_{\text{Temp}} + 0.015 W_{\text{Prec}}.$

Figure 2 depicts the estimated damage function in comparison with the values of the damage coefficients obtained from Table 5 over the period between 1973 and 2007 in Appendix A.



Figure 2: The damages of climate change in the 'Alte Land' region compared to the estimates obtained from the damage function.

4. Rentability and the cost of climate change.

Modern land-use theory developed itself from the works of David Ricardo in Ricardo (1951-73) and von Thünen (1910). According to Ricardo (1951-73), land use is determined by the private production decisions of farmers, each of whom chooses a profit maximizing land-use pattern from a set of restricted production possibilities given prevailing input and output prices. Changes in land-use arise if the production possibilities available to a producer alter or if the relative profitability of available production possibilities changes. The latter will occur if input or output prices change, whereas the former may occur if planning or policy contraints tighten or relax, if technological advances change the production function(s), or if resource constraints faced by individual producers alter. Climate change has its consequences through both channels. It directly changes the production function through changes in the productivity parameter which we modeled by including a damage coefficient into the production function. On the other hand, changes in productivity of land results in changes in the cost of production, and hence on the rentability of the use of this land in the production sector. The cost of climate change can be expressed by the change in rentability of land used in the fruit orcharding sector.

Associated with each time t, we can postulate the following relationship between the price $p_{0,t}$ of the output good, and the price $p_{L,t}$ of land:

$$p_{0,t} = (d_{0,t}a_{L,t})^{-1}p_{L,t}.$$

This relation was derived in the previous section under the assumption of a production function with only land as its input good. It determines the price of the output good in each period t as a function of the price of land in t.

We determine the rentability of land in the fruit sector. Land is a production factor with alternative economic uses. Given current prices, we can list these alternative uses of land according to profitability. Following a neoclassical economic approach, the land will be used for the economic activity where it is most profitable. Then the land price p_L will be set such that profits equal zero. Allocating land to another activity would result in a loss making activity under the given price of land. Hence, the profit per unit of land is taken away completely by the height of the land price. This makes the price of land p_L to be equal to the profit per ha of land. Let us assume that land is most profitably used in the current production of apples at current market prices p_0 and p_L . Then we can rewrite aforementioned equation to obtain the rentability of land in terms of the output price:

$$p_L/p_0 = d_0 a_L,$$

hence it expresses the rentability of land in terms of tons of apples per ha. This equation distinguishes economic effects a_L from climate related effects d_0 on the rentability of land.





Figure 3: The development of rentability (in ton/ha) according to the Benchmark scenario in comparison to the development of rentability according to the Counterfactual scenario.

To determine the cost of climate change, we need to distinguish two scenarios. One scenario only entails the economic development in the production of apples given by the sequence $a_{L,t}$, t = 2010, ..., 2050, and where all damage coefficients $d_{0,t} = 1$. Let us call this the benchmark scenario, and rentability develops itself according $(p_{L,t}/p_{0,t})^{\rm B}$ in ton apples per ha of land. Table 8 in Appendix D provides the values for $a_{L,t}$ in the second column. These values also present the rentability under the benchmark scenario due to the assumed unit damage coefficients. Another scenario includes the damages related to climate change, following the variation in regional minimum temperature during the blossoming season and precipitation over time, given by the damage function estimated in the previous section. Then, rentability contains non-unit damage coefficients. Table 7 in Appendix C computes the damage coefficients $d_{0,t}$, t = 2010, ..., 2050. Average damage over this period is 1.2681 which indicates a productivity improvement of 26.8% over the period from 2010 to 2050. Damage varies between a minimum of 0.9715 and a maximum of 1.6835.

These values are repeated in the first column of Table 8 in Appendix D which, in combination with the land productivity values $a_{L,r}$, compute the productivity values in the last column of Table 8. Let us call this scenario the counterfactual scenario and rentability develops itself according $(p_{L,t}/p_{0,t})^{\rm C}$ in ton apples per *ha* of land. Figure 3 depicts these two scenarios. The total area between these curves represents the cost of climate change in this sector.

The cost of climate change for the 'Alte Land' production sector in period tthen equals the difference between total counterfactual rentability and benchmark rentability, hence

$$-[(p_{L,t}/p_{0,t})^{\mathrm{C}} - (p_{L,t}/p_{0,t})^{\mathrm{B}}] \underline{x}_{L}$$

In Figure 3, the first part of this formula is the difference between counterfactual and benchmark rentability of land for each time t. We have chosen for the average use of land in the production of apples during period 1981 to 2007, $\underline{x}_L = 8760$, see the second column of Table 5 in Appendix A. This simple approach to incorporate land-use changes may be sufficient for the benchmark scenario. One could improve on this approach by allowing climate change induced land use changes over the period 2010 to 2050 in the computation of counterfactual total rentability of land.



Annual Cost of Climate Change

Figure 4: The cost of climate change in each period t measured in tons of apples.

Figure 4 computes the cost of climate change for the 'Alte Land' region in each period t from 2010 until 2050. These costs are denominated in the output price. This means that in each period t, Figure 4 shows the loss in tons of apples due to climate change in the 'Alte Land'.

The last figure shows that the apple production in the 'Alte Land' benefits from climate change. The increase in minimum temperature during the annual blossoming season and in mean precipitation levels according to the A1B scenario leads to productivity levels that are in general higher than what can be explained by economic or technological progress.

5. Conclusions

This paper computes the cost of climate change in a production sector. We referred to climate change as changes in the regional minimum temperature during the blossoming season and mean regional precipitation. The paper concentrates on apple growing in the 'Alte Land' region south of Hamburg in Germany as the example production sector. We modeled the activities in this sector using a simple linear production function with only land as an input. Economists regard the opportunity costs of choosing one alternative over another. The cost of climate change on this production sector can be calculated as the difference in (net) costs between two scenarios, a benchmark scenario that only considers the economic development regarding land productivity in the apple growing sector and a counterfactual scenario that introduces damages related to climate change.

To be able to split developments about the productivity of land in the production sector into economic developments and climate change, we introduced socalled damage coefficients associated with the usual land productivity parameters in the production and cost function of the apple growing production sector. The damage coefficients are used to introduce the climate influence into the production function and cost function. We estimate a simple damage function that relates these damage coefficients to the climate variables mean regional temperature and precipitation.

The cost of climate change are then calculated as the difference in (net) costs between a benchmark scenario where we set the damage coefficient equal to one, and a counterfactual where the damage coefficient varies with climate through a damage function. The estimation of these costs are significantly determined by the specification of the damage function and by the presumed economic development in the sector.

A comparison with the cost of climate change in the other apple growing regions could reveal more about the future economic viability of apple growing in Germany. Apple growing in the 'Alte Land' proves to remain a rentable production sector in the future. Figure 4 even shows that climate change as temperature and precipitation changes are beneficial to this sector. As was shown in the previous section, the cost of climate change relates intricately to changes in the rentability of land use in this sector following climate change. In which region will the rentability changes be so significant that land is being shifted to more rentable production sectors in the immediate surroundings. To that end, we should compare the rentability of land in the growing with the rentability of land in the other neighboring sectors.

References

Ellinger, W. and M. Görgens (2007). EU-Kernobstschätzung 2007.

- Görgens, M. (2007). Baumobsterhebung 2007 II. Ergebnisse für das Niederelbegebiet.
- Houba, H. and J. Kremers (2007). "Environmental damage and price taking behavior of firms and consumers" Mimeo. DIW Berlin.
- Kemfert, C. (1998). "Estimated substitution elasticities of a nested CES production function for Germany" *Energy Economics* 20, pp.249-264.
- Kemfert, C. (2007). "The economics of climate change" *Internationale Politik* 62(2), pp.38-45.
- Ricardo, D. (1951-73). Works and Correspondence (editor. P. Sraffa), Cambridge: Cambridge University Press.
- Thünen, J. H. von, (1910). Der isolierte Staat in Beziehung auf Landwirtschaft und Nationaloekonomie. Jena: G. Fischer, 1910 [University of Washington: 330.1 T424i 1910 (Allen Temporary Storage)]
- Tol, R. (2002a). "Estimates of the damage costs of climate change, part 1: Benchmark estimates" *Environmental and Resource Economics* 21, pp.47-73.
- Tol, R. (2002b). "Estimates of the damage costs of climate change, part 2: Dynamic estimates" *Environmental and Resource Economics* 21, pp.135-160.
- Varian, H. (1992). Microeconomic Analysis (third edition) New-York: Norton.

Appendix A

Year t	Production y_t	Acreage $x_{L,t}$	Productivity $\hat{a}_{L,t}$	Est. Prod. $\underline{a}_{L,t}$	Damage $d_{0,t}$
	(ton)	(ha)	(1000 ton per ha)	(1000 ton per ha)	
1973	157660	9430	0.0167	0.01215	1.3759
1974	139540	9398	0.0148	0.01444	1.0280
1975	174515	9367	0.0186	0.01597	1.1663
1976	187970	9335	0.0201	0.01716	1.1736
1977	209110	9303	0.0225	0.01813	1.2395
1978	160400	9271	0.0173	0.01897	0.9119
1979	171940	9239	0.0186	0.01971	0.9441
1980	146650	9207	0.0159	0.02037	0.7818
1981	139240	9175	0.0152	0.02098	0.7235
1982	159360	9161	0.0174	0.02153	0.8079
1983	227470	9147	0.0249	0.02204	1.1281
1984	166680	9134	0.0182	0.02252	0.8103
1985	197630	9120	0.0217	0.02297	0.9434
1986	224170	9106	0.0246	0.02340	1.0523
1987	175160	9092	0.0193	0.02380	0.8096
1988	137380	9049	0.0152	0.02418	0.6279
1989	251510	9007	0.0279	0.02454	1.1378
1990	128960	8964	0.0144	0.02489	0.5780
1991	138710	8922	0.0155	0.02522	0.6164
1992	225200	8879	0.0254	0.02555	0.9929
1993	238900	8865	0.0269	0.02585	1.0423
1994	235000	8852	0.0265	0.02615	1.0152
1995	151320	8838	0.0171	0.02644	0.6476
1996	236140	8825	0.0268	0.02672	1.0016

Year t	Production y_t	Acreage $x_{L,t}$	Productivity $\hat{a}_{L,t}$	Est. Prod. $\underline{a}_{L,t}$	Damage $d_{0,t}$
	(ton)	(ha)	(1000 ton per ha)	(1000 ton per ha)	
1997	232000	8811	0.0263	0.02699	0.9757
1998	270000	8504	0.0317	0.02725	1.1652
1999	310357	8197	0.0379	0.02750	1.3767
2000	320000	7891	0.0406	0.02775	1.4615
2001	308400	7584	0.0407	0.02799	1.4529
2002	280491	7277	0.0385	0.02822	1.3658
2003	222400	7494	0.0297	0.02845	1.0431
2004	245700	7711	0.0319	0.02867	1.1112
2005	291600	7929	0.0368	0.02889	1.2730
2006	300700	8146	0.0369	0.02910	1.2684
2007	303755	8363	0.0363	0.02931	1.2392

Table 5: Annual production of apples y_t , in ton, (see Ellinger and Görgens (2007)) in the first column, fruit growing acreage $x_{L,t}$, in ha, (see Görgens (2007)) for t = 1981, 1987, 1992, 1997, 2002, 2007, in the second column. The slanted light printed numbers in the second column are obtained by linear extrapolation of the collected non slanted numbers. The third column computes the productivity of land, $a_{L,t}$, in ton per ha, from the previous two columns. The fourth column computes the fitted productivity of land, $\underline{a}_{L,t}$, in ton per ha, while the fifth column compares fitted with computed value to obtain a damage coefficient $d_{0,t}$.

Appendix B

Year	damage	temperature	precipitation	Year	damage	temperature	precipitation
1973	1.3759	1.3576	60.8640	1991	0.6164	3.1074	58.8300
1974	1.0280	1.3948	70.5620	1992	0.9929	2.1869	60.9320
1975	1.1663	1.3219	49.9270	1993	1.0423	0.0037	78.5550
1976	1.1736	-1.9045	44.9550	1994	1.0152	2.6943	72.4120
1977	1.2395	2.5911	60.4820	1995	0.6476	0.3911	64.8930
1978	0.9119	2.0680	70.6410	1996	1.0016	-1.5588	46.2200
1979	0.9441	0.6564	63.1030	1997	0.9757	1.9596	58.3040
1980	0.7818	-0.0576	73.9180	1998	1.1652	2.2505	85.8900
1981	0.7235	2.5588	75.2820	1999	1.3767	2.7288	59.3810
1982	0.8079	0.9247	53.0870	2000	1.4615	2.7595	59.8500
1983	1.1281	2.1604	64.0620	2001	1.4529	0.8314	86.0620
1984	0.8103	-0.8158	61.9690	2002	1.0290	1.9284	93.5170
1985	0.9434	0.7301	62.9830	2003	1.0431	0.8683	50.7850
1986	1.0523	0.0850	60.9170	2004	1.1112	1.4650	73.4580
1987	0.8096	-3.0532	67.1830	2005	1.2730	-0.0428	64.8020
1988	0.6279	0.8321	68.9220	2006	1.2684		
1989	1.1378	3.6653	55.3910	2007	1.2392		

Table 6: Calculated damage coefficients $d_{0,t}$, regional minimum temperature during spring (March until June) W_{Temp} (in degrees Celcius), and precipitation W_{Perc} (in mm), for the periods t = 1973, ..., 2007.

Appendix C

Year	Damage	Temperature	Precipitation	Year	Damage	Temperature	Precipitation
2010	1.3375	4.6471	86.1322	2031	1.2114	3.5942	78.4119
2011	1.0191	0.1489	67.8453	2032	1.2878	3.2272	83.7466
2012	1.4632	3.7816	95.0783	2033	1.5314	2.7655	100.2896
2013	1.2283	2.5251	80.2402	2034	1.2378	0.5531	82.1580
2014	1.3247	0.4414	88.0265	2035	0.9715	-0.1767	64.8800
2015	1.2697	1.6613	83.5580	2036	1.2693	1.9058	83.3726
2016	1.4187	2.1696	93.1603	2037	1.0601	4.9634	67.4292
2017	1.2936	-2.9670	88.1791	2038	0.9776	1.6476	64.0946
2018	1.0724	3.1218	69.4558	2039	1.1656	3.9756	75.1109
2019	1.0741	1.8469	70.3969	2040	1.4767	3.1450	96.3931
2020	1.4237	1.7602	93.7610	2041	1.2252	5.0163	78.4007
2021	1.4145	3.1936	92.2164	2042	1.6835	3.0596	110.2361
2022	1.0696	1.7235	70.1826	2043	1.4588	4.0575	94.6037
2023	1.2241	3.2104	79.5084	2044	1.6229	5.9600	104.3003
2024	1.0552	2.1036	68.9713	2045	1.2352	2.5752	80.6617
2025	1.3889	3.6604	90.2037	2046	1.3836	3.0962	90.2186
2026	1.2304	1.7482	80.8846	2047	1.5691	3.8080	102.1189
2027	1.4245	2.0392	93.6347	2048	1.1118	6.7917	69.6795
2028	1.1469	1.5416	75.4532	2049	1.0437	1.9872	68.2790
2029	0.9926	0.7452	65.6859	2050	1.3396	3.4274	87.0651
2030	1.2318	1.8238	80.9302				

Table 7: Predicted damage coefficients $d_{0,t}$, obtained from the A1B scenario values for regional minimum temperature W_{Temp} (in degrees Celcius) during the blossoming season, and precipitation W_{Perc} (in mm), for the periods $t = 2010 \dots, 2050$.

Appendix D

	Rentabil- ity (B)	Rentabil- ity (C)	$\begin{array}{c} \mathbf{Annual}\\ \mathbf{cost} \end{array}$		Rentabil- ity (B)	Rentabil- ity (C)	$\begin{array}{c} \mathbf{Annual} \\ \mathbf{cost} \end{array}$
2010	0.0299	0.0400	-88.4260	2031	0.0333	0.0403	-61.6774
2011	0.0301	0.0307	-5.0461	2032	0.0334	0.0431	-84.3195
2012	0.0303	0.0443	-122.8951	2033	0.0336	0.0514	-156.3181
2013	0.0305	0.0374	-60.9480	2034	0.0337	0.0417	-70.2213
2014	0.0306	0.0406	-87.1840	2035	0.0338	0.0329	8.4588
2015	0.0308	0.0391	-72.8161	2036	0.0340	0.0431	-80.1347
2016	0.0310	0.0440	-113.6937	2037	0.0341	0.0362	-17.9476
2017	0.0312	0.0403	-80.1733	2038	0.0342	0.0335	6.7268
2018	0.0313	0.0336	-19.8845	2039	0.0344	0.0400	-49.8444
2019	0.0315	0.0338	-20.4373	2040	0.0345	0.0509	-143.9869
2020	0.0317	0.0451	-117.5271	2041	0.0346	0.0424	-68.2525
2021	0.0318	0.0450	-115.5779	2042	0.0347	0.0585	-207.9159
2022	0.0320	0.0342	-19.5093	2043	0.0348	0.0508	-140.0478
2023	0.0321	0.0393	-63.0918	2044	0.0350	0.0567	-190.7839
2024	0.0323	0.0341	-15.6110	2045	0.0351	0.0433	-72.2677
2025	0.0324	0.0451	-110.5367	2046	0.0352	0.0487	-118.2821
2026	0.0326	0.0401	-65.7820	2047	0.0353	0.0554	-176.0460
2027	0.0327	0.0466	-121.7450	2048	0.0354	0.0394	-34.6808
2028	0.0329	0.0377	-42.3174	2049	0.0355	0.0371	-13.5924
2029	0.0330	0.0328	2.1433	2050	0.0357	0.0478	-106.0498
2030	0.0332	0.0409	-67.3543				

Table 8: Calculated Benchmark and Counterfactual rentability $p_{L,t}/p_{0,t}$, and resulting annual Cost = -[$(p_{L,t}/p_{0,t})^C - (p_{L,t}/p_{0,t})^B$] \underline{x}_L , for the periods t = 2010, ..., 2050, where $\underline{x}_L = 8760$ ha.